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Question 1

Question Type: MultipleChoice

A Citrix Administrator needs to use a client's IP address as the source IP address for Citrix ADC-to-server connections.

Which Citrix ADC mode can the administrator use to meet this requirement?

Options:

A- USNIP
B- Layer 2
C- Layer 3
D- USIP

Answer:

Explanation:




When you enable the USIP address mode of a NetScaler appliance, the appliance forwards each packet to the appropriate back end
server with the client IP address. https://support.citrix.com/article/CTX121974

Question 2

Question Type: MultipleChoice

A Citrix Administrator needs to confirm that all client certificates presented to the authentication vServer are valid until the year 2023.

Which expression can the administrator use to meet this requirement?

Options:

A- CLIENT.SSL.CLIENT_CERT.VALID_NOT_AFTER.EQ(GMT2023)

B- CLIENT.SSL.CLIENT_CERT.VALID_NOT_BEFORE.EQ(GMT2023)

C- CLIENT.SSL.ORIGIN_SERVER_CERT.VALID_NOT_AFTER.EQ(GMT2023)
D- CLIENT.SSL.CLIENT_CERT.DAYS_TO_EXPIRE.EQ(2023)

Answer:



https://support.citrix.com/article/CTX121974
https://support.citrix.com/article/CTX121974

Explanation:

https://docs.citrix.com/en-us/citrix-adc/current-release/appexpert/policies-and-expressions/adv-policy-exp-working-with-dates-times-and-
numbers/exp-for-ssl-certificate-date.htmi

Question 3

Question Type: MultipleChoice

Scenario: A Citrix Administrator needs to improve website loading speed. End users are reporting slow GIF
image rendering speeds as they scroll down a website, which affects overall page load time.

Which Citrix ADC feature can the administrator enable to improve website performance?

Options:

A- Domain sharding


https://docs.citrix.com/en-us/citrix-adc/current-release/appexpert/policies-and-expressions/adv-policy-exp-working-with-dates-times-and-numbers/exp-for-ssl-certificate-date.html
https://docs.citrix.com/en-us/citrix-adc/current-release/appexpert/policies-and-expressions/adv-policy-exp-working-with-dates-times-and-numbers/exp-for-ssl-certificate-date.html

B- Image lazy loading
C- Image optimization

D- Image shrink-to attributes

Answer:

Explanation:

Reduces the image to the size indicated in the image tag by Citrix ADC, enabling client browsers to load images faster.
https://docs.citrix.com/en-us/citrix-adc/current-release/optimization/front-end-optimization.html

Question 4

Question Type: MultipleChoice

Scenario: A Citrix ADC is configured with Interface 1/1 and bound to VLAN 40. A Citrix Administrator executed the below command:
> bind vlan 10 --ifnum 1/1

What is the result of executing this command on the Citrix ADC?


https://docs.citrix.com/en-us/citrix-adc/current-release/optimization/front-end-optimization.html
https://docs.citrix.com/en-us/citrix-adc/current-release/optimization/front-end-optimization.html

Options:

A- Interface 1/1 is bound to VLAN 20, and native VLAN is 20.
B- Interface 1/1 is bound to VLAN 20, and native VLAN is NOT changed.
C- Interface 1/1 is bound to VLAN 20, and native VLAN is 40.

D- Interface 1/1 is bound to VLAN 20, and native VLAN is 1.

Answer:

A

Explanation:

https://www.citrix.com/blogs/2014/12/29/netscaler-vlans-demystified/

https://support.citrix.com/article/CTX115575

Question 5

Question Type: MultipleChoice



https://www.citrix.com/blogs/2014/12/29/netscaler-vlans-demystified/
https://support.citrix.com/article/CTX115575

set gslb vServer-GSLB-1-MIR ENABLED

What will the Citrix ADC appliance send when the above command is executed?

Options:

A- The Remote GSLB service as the first record in the response and adds the remaining active services as additional records
B- The Local GSLB service as the first record in the response and adds the remaining active services as additional records
C- Only the best GSLB service in the response

D- The best global server load balancing (GSLB) service as the first record in the response, and the remaining active services as
additional records

Answer:

Explanation:

https://docs.citrix.com/en-us/citrix-adc/current-release/global-server-load-balancing/how-to/protect-setup-against-failure.html

'if you enable multiple IP responses (MIR), the Citrix ADC appliance sends the best GSLB service as the first record in the response and
adds the remaining active services as extra records. '


https://docs.citrix.com/en-us/citrix-adc/current-release/global-server-load-balancing/how-to/protect-setup-against-failure.html

Question 6

Question Type: MultipleChoice

Which two protocols would provide end-to-end data encryption, while allowing a Citrix ADC to optimize the responses? (Choose two.)

Options:

A- HTTP protocol for the services

B- SSL bridge protocol for the vServer
C- SSL bridge protocol for the services
D- SSL protocol for the services

E- HTTP protocol for the vServer

F- SSL protocol for the vServer

Answer:

D, F



Explanation:

https://docs.citrix.com/en-us/citrix-adc/current-release/ssl/how-to-articles/end-to-end-encrypt.html

Question 7

Question Type: MultipleChoice

Scenario: A Citrix Administrator manages an environment that has a Citrix ADC high availability (HA) pair running on two MPX
appliances. The administrator notices that the state of the secondary Citrix ADC is 'Unknown'.

What is causing the secondary state to be 'Unknown'?

Options:

A- The synchronization on the secondary appliance is disabled.
B- TCP port 22 is disabled between the primary and secondary ADCSs.
C- The administrator made both Citrix ADCs primary.

D- The remote procedure call (RPC) nodes are incorrectly configured.


https://docs.citrix.com/en-us/citrix-adc/current-release/ssl/how-to-articles/end-to-end-encrypt.html

Answer:

D

Explanation:

https://docs.citrix.com/en-us/citrix-adc/current-release/system/high-availability-introduction/troubleshooting-high-availability.html

Question 8

Question Type: MultipleChoice

Scenario: A Citrix ADC receives packets destined for a MAC address owned by the Citrix ADC. The destination IP address of the
packets does NOT belong to the Citrix ADC. Layer 3 mode is enabled by default on the Citrix ADC.

The Citrix ADC will the packets in this scenario. (Choose the correct option to complete the

sentence.)

Options:



https://docs.citrix.com/en-us/citrix-adc/current-release/system/high-availability-introduction/troubleshooting-high-availability.html

A- route
B- process
C- bridge
D- drop

Answer:

Explanation:

https://docs.citrix.com/en-us/citrix-adc/current-release/getting-started-with-citrix-adc/configure-system-settings/configure-modes-packet-
forwarding.html

Question 9

Question Type: MultipleChoice

Scenario: A load-balancing vServer is configured to utilize the least bandwidth load-balancing method. A service attached to this vServer
is brought into the effective state during production hours.


https://docs.citrix.com/en-us/citrix-adc/current-release/getting-started-with-citrix-adc/configure-system-settings/configure-modes-packet-forwarding.html
https://docs.citrix.com/en-us/citrix-adc/current-release/getting-started-with-citrix-adc/configure-system-settings/configure-modes-packet-forwarding.html

During the startup of a vServer, which load-balancing method is used by default?

Options:

A- Least connections
B- Least bandwidth
C- Custom load

D- Round-robin

Answer:

Explanation:

https://docs.citrix.com/en-us/citrix-adc/current-release/load-balancing/load-balancing-customizing-algorithms/leastconnection-
method.html


https://docs.citrix.com/en-us/citrix-adc/current-release/load-balancing/load-balancing-customizing-algorithms/leastconnection-method.html
https://docs.citrix.com/en-us/citrix-adc/current-release/load-balancing/load-balancing-customizing-algorithms/leastconnection-method.html
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